

County Distribution Detail Report through 10/02/2019

Aurora

6/2019

7/2019

Aurora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	1,169	1,865	51	3,085	\$3,856.25	\$118.57	\$3,737.68	0.70	\$2,616.38
							Entity Total:		\$2,616.18
							Adjustment:		\$0.00
							Total Amoun	ıt:	\$2,616.18
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.96	\$-0.96	0.70	\$-0.67
7/2019	0	0	0	0	\$0.00	\$0.93	\$-0.93	0.70	\$-0.65
8/2019	5,167	10,181	255	15,603	\$19,503.75	\$372.99	\$19,130.76	0.70	\$13,391.53
							Entity Total:		\$13,390.21
							Adjustment:		\$0.00
							Total Amoun	ıt:	\$13,390.21
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	907	1,049	3	1,959	\$2,448.75	\$57.05	\$2,391.70	0.70	\$1,674.19
							Entity Total:		\$1,674.19
							Adjustment:		\$0.00
							Total Amoun	ıt:	\$1,674.19
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

0

0

\$0.00

\$0.00

\$0.05

\$0.05

\$-0.05

\$-0.05

0.70

0.70

\$-0.04

\$-0.04

8/2019	2,065	3,809	11	5,885	\$7,356.25	\$148.90	\$7,207.35	0.70	\$5,045.15
							Entity Total:		\$5,045.07
							Adjustment:		\$0.00
							Total Amoun	t:	\$5,045.07
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.48	\$-0.48	0.70	\$-0.34
7/2019	0	0	0	0	\$0.00	\$0.56	\$-0.56	0.70	\$-0.39
8/2019	11,163	20,624	190	31,977	\$39,971.25	\$842.03	\$39,129.22	0.70	\$27,390.45
							Entity Total:		\$27,389.72
							Adjustment:		\$0.00
							Total Amoun	t:	\$27,389.72
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.48	\$-0.48	0.70	\$-0.34
7/2019	0	0	0	0	\$0.00	\$0.47	\$-0.47	0.70	\$-0.33
8/2019	11,524	25,732	267	37,523	\$46,903.75	\$956.71	\$45,947.04	0.70	\$32,162.93
							Entity Total:		\$32,162.26
							Adjustment:		\$0.00
							Total Amoun	t:	\$32,162.26
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	2,461	3,570	6	6,037	\$7,546.25	\$150.74	\$7,395.51	0.70	\$5,176.86
							Entity Total:		\$5,176.86
							Adjustment:		\$0.00
							Total Amoun	t:	\$5,176.86
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	545	437	2	984	\$1,230.00	\$24.99	\$1,205.01	0.70	\$843.51
							Entity Total:		\$843.51

Adjustment:	\$0.00

\$2,106.93

Total Amount:

Total Amount: \$843.51

В	u	t	t	е

Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
			Lines		_		_	Percent	-
6/2019	0	0	0	0	\$0.00	\$0.19	\$-0.19	0.70	\$-0.13
7/2019	0	0	0	0	\$0.00	\$0.19	\$-0.19	0.70	\$-0.13
8/2019	2,962	6,317	32	9,311	\$11,638.75	\$242.56	\$11,396.19	0.70	\$7,977.33
							Entity Total:		\$7,977.07
							Adjustment:		\$0.00
							Total Amou	nt:	\$7,977.07
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	739	1,381	13	2,133	\$2,666.25	\$53.40	\$2,612.85	0.70	\$1,829.00
							Entity Total:		\$1,829.00
							Adjustment:		\$0.00
							Total Amou	nt:	\$1,829.00
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	2,739	5,269	18	8,026	\$10,032.50	\$204.98	\$9,827.52	0.70	\$6,879.26
							Entity Total:		\$6,879.06
							Adjustment		\$0.00
							Total Amou	nt:	\$6,879.06
City of Box Elder, M	leade Cc								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019		0.407	20	2,471	\$3,088.75	\$78.85	\$3,009.90	0.70	\$2,106.93
0/2019	25	2,407	39	2,471	ψ3,000.73	Ψ10.00	ψ0,003.30	0.70	Ψ2,100.50
6/2019	25	2,407	39	2,471	φο,000.73	Ψ/0.03	Entity Total:		\$2,106.93

City of North Sioux City, Un

-									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	964	2,642	138	3,744	\$4,680.00	\$120.14	\$4,559.86	0.70	\$3,191.90
							Entity Total	:	\$3,191.90
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,191.90
City of Sioux Falls,	Lincoln								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.38	\$-0.38	0.70	\$-0.27
7/2019	0	0	0	0	\$0.00	\$0.37	\$-0.37	0.70	\$-0.26
8/2019	5,614	23,847	1,496	30,957	\$38,696.25	\$821.44	\$37,874.81	0.70	\$26,512.37
12/2017	27	0	7	34	\$42.50	\$0.00	\$42.50	0.70	\$29.75
							Entity Total	:	\$26,541.59
							Adjustment	:	\$0.00
							Total Amou	nt:	\$26,541.59
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	1,407	2,225	14	3,646	\$4,557.50	\$94.69	\$4,462.81	0.70	\$3,123.97
							Entity Total	:	\$3,123.77
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,123.77
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.82	\$-0.82	0.70	\$-0.57
7/2019	0	0	0	0	\$0.00	\$0.79	\$-0.79	0.70	\$-0.55
8/2019	2,437	7,443	225	10,105	\$12,631.25	\$253.86	\$12,377.39	0.70	\$8,664.17
							Entity Total	:	\$8,663.05
							Adjustment	:	\$0.00

8,663.05
þ

Adjustment:

\$0.00

Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	1	1	\$1.25	\$0.19	\$1.06	0.70	\$0.74
7/2019	0	0	2	2	\$2.50	\$0.23	\$2.27	0.70	\$1.59
8/2019	8,738	18,436	555	27,729	\$34,661.25	\$710.02	\$33,951.23	0.70	\$23,765.86
							Entity Total:		\$23,768.19
							Adjustment:		\$0.00
							Total Amour	it:	\$23,768.19
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	1,454	604	114	2,172	\$2,715.00	\$50.15	\$2,664.85	0.70	\$1,865.40
							Entity Total:		\$1,865.40
							Adjustment:		\$0.00
							Total Amour	ıt:	\$1,865.40
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	3,600	5,443	37	9,080	\$11,350.00	\$255.23	\$11,094.77	0.70	\$7,766.34
							Entity Total:		\$7,766.14
							Adjustment:		\$0.00
							Total Amour	it:	\$7,766.14
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$2.26	\$-2.26	0.70	\$-1.58
7/2019	0	0	0	0	\$0.00	\$2.20	\$-2.20	0.70	\$-1.54
8/2019	5,962	13,678	151	19,791	\$24,738.75	\$486.05	\$24,252.70	0.70	\$16,976.89
							Entity Total:		\$16,973.77

Total Amount:	\$16,973.77
i Olai Ailioulil.	\$10,313.1

Day

- ,									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	2,249	3,482	9	5,740	\$7,175.00	\$145.99	\$7,029.01	0.70	\$4,920.31
							Entity Total:		\$4,920.11
							Adjustment:		\$0.00
							Total Amou	nt:	\$4,920.11
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	1,839	2,869	16	4,724	\$5,905.00	\$128.83	\$5,776.17	0.70	\$4,043.32
							Entity Total:		\$4,043.32
							Adjustment:		\$0.00
							Total Amou	nt:	\$4,043.32
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	1,265	2,147	7	3,419	\$4,273.75	\$88.70	\$4,185.05	0.70	\$2,929.54
							Entity Total:		\$2,929.34
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,929.34
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	1,376	2,859	19	4,254	\$5,317.50	\$106.09	\$5,211.41	0.70	\$3,647.99
							Entity Total:		\$3,647.99
							Adjustment:		\$0.00
							Total Amou	nt:	\$3,647.99
Fall River									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	3,312	4,489	18	7,819	\$9,773.75	\$204.14	\$9,569.61	0.70	\$6,698.73
							Entity Total:		\$6,698.53
							Adjustment:		\$0.00
							Total Amoun	t:	\$6,698.53
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	793	1,472	23	2,288	\$2,860.00	\$57.51	\$2,802.49	0.70	\$1,961.74
							Entity Total:		\$1,961.74
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,961.74
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	2,721	5,184	29	7,934	\$9,917.50	\$191.50	\$9,726.00	0.70	\$6,808.20
							Entity Total:		\$6,808.20
							Adjustment:		\$0.00
							Total Amoun	t:	\$6,808.20
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	1,855	3,407	17	5,279	\$6,598.75	\$144.24	\$6,454.51	0.70	\$4,518.16
							Entity Total:		\$4,517.96
							Adjustment:		\$0.00
							Total Amoun	t:	\$4,517.96
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	1,053	1,373	5	2,431	\$3,038.75	\$60.93	\$2,977.82	0.70	\$2,084.47

							Aujustinent.		Ψ0.00
							Total Amoun	t:	\$2,084.47
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.05	\$-0.05	0.70	\$-0.04
7/2019	0	0	0	0	\$0.00	\$0.05	\$-0.05	0.70	\$-0.04
8/2019	1,720	3,598	9	5,327	\$6,658.75	\$133.60	\$6,525.15	0.70	\$4,567.61
							Entity Total:		\$4,567.53
							Adjustment:		\$0.00
							Total Amoun	t:	\$4,567.53
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	1,420	2,635	12	4,067	\$5,083.75	\$102.35	\$4,981.40	0.70	\$3,486.98
							Entity Total:		\$3,486.98
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,486.98
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.05	\$-0.05	0.70	\$-0.04
7/2019	0	0	0	0	\$0.00	\$0.05	\$-0.05	0.70	\$-0.04
8/2019	1,011	3,013	22	4,046	\$5,057.50	\$102.90	\$4,954.60	0.70	\$3,468.22
							Entity Total:		\$3,468.14
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,468.14
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	704	854	2	1,560	\$1,950.00	\$49.26	\$1,900.74	0.70	\$1,330.52
							Entity Total:		\$1,330.52

Entity Total:

Adjustment:

\$2,084.47

\$0.00

Adjustment:	\$0.00
Total Amount:	\$1,330.52

Entity Total:

Adjustment:

Total Amount:

\$1,463.44

\$0.00 \$1,463.44

Ηι	ugh	nes
----	-----	-----

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	18	0	0	18	\$22.50	\$0.24	\$22.26	0.70	\$15.58
7/2019	3	0	1	4	\$5.00	\$0.23	\$4.77	0.70	\$3.34
8/2019	6,282	13,994	239	20,515	\$25,643.75	\$526.89	\$25,116.86	0.70	\$17,581.80
12/2016	18	0	0	18	\$22.50	\$0.00	\$22.50	0.70	\$15.75
12/2017	36	0	0	36	\$45.00	\$0.00	\$45.00	0.70	\$31.50
12/2018	111	0	0	111	\$138.75	\$0.00	\$138.75	0.70	\$97.13
							Entity Total	:	\$17,745.10
							Adjustment	:	\$0.00
							Total Amou	nt:	\$17,745.10
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	3,006	5,010	46	8,062	\$10,077.50	\$220.32	\$9,857.18	0.70	\$6,900.03
							Entity Total	:	\$6,899.83
							Adjustment	:	\$0.00
							Total Amou	nt:	\$6,899.83
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	644	1,057	6	1,707	\$2,133.75	\$43.12	\$2,090.63	0.70	\$1,463.44

Jackson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
	6/2019	6/2019 0	6/2019 0 0	Lines 6/2019 0 0 0	Lines 6/2019 0 0 0 0	Lines 6/2019 0 0 0 \$0.00	Lines 6/2019 0 0 0 \$0.00 \$0.14	Lines 6/2019 0 0 0 \$0.00 \$0.14 \$-0.14	Lines Percent 6/2019 0 0 0 \$0.00 \$0.14 \$-0.14 0.70

8/2019	671	817	4	1,492	\$1,865.00	\$37.90	\$1,827.10	0.70	\$1,278.97
							Entity Total:		\$1,278.77
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,278.77
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	851	1,229	5	2,085	\$2,606.25	\$53.94	\$2,552.31	0.70	\$1,786.62
							Entity Total:		\$1,786.42
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,786.42
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	579	678	3	1,260	\$1,575.00	\$31.61	\$1,543.39	0.70	\$1,080.37
							Entity Total:		\$1,080.37
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,080.37
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.29	\$-0.29	0.70	\$-0.20
7/2019	0	0	0	0	\$0.00	\$0.28	\$-0.28	0.70	\$-0.20
8/2019	2,079	3,885	56	6,020	\$7,525.00	\$135.01	\$7,389.99	0.70	\$5,172.99
							Entity Total:		\$5,172.59
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,172.59
Lake						–	Not Coroborno		
Lake Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
	Telecom Lines	Wireless Lines		Total Lines	Surcharge \$0.00	Admin Fee \$0.24	\$-0.24	-	Entity Amount \$-0.17
Reporting Period			Lines					Percent	-

							Entity Total:		\$10,605.31
							Adjustment:		\$0.00
							Total Amour	nt:	\$10,605.31
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.48	\$-0.48	0.70	\$-0.34
7/2019	0	0	1	1	\$1.25	\$0.47	\$0.78	0.70	\$0.55
8/2019	9,483	16,525	166	26,174	\$32,717.50	\$636.48	\$32,081.02	0.70	\$22,456.71
							Entity Total:		\$22,456.92
							Adjustment:		\$0.00
							Total Amour	nt:	\$22,456.92
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2019	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
5/2019	0	0	11	11	\$13.75	\$0.00	\$13.75	0.70	\$9.63
6/2019	0	0	12	12	\$15.00	\$2.07	\$12.93	0.70	\$9.05
7/2019	0	0	10	10	\$12.50	\$2.01	\$10.49	0.70	\$7.34
8/2019	4,821	22,990	1,786	29,597	\$36,996.25	\$775.59	\$36,220.66	0.70	\$25,354.46
							Entity Total:		\$25,389.23
							Adjustment:		\$0.00
							Total Amour	nt:	\$25,389.23
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	1,107	1,713	154	2,974	\$3,717.50	\$82.95	\$3,634.55	0.70	\$2,544.19
							Entity Total:		\$2,544.19
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,544.19
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	1,658	2,818	10	4,486	\$5,607.50	\$116.79	\$5,490.71	0.70	\$3,843.50

Entity Total: \$3,843.50

Adjustment: \$0.00

Total Amount: \$3,843.50

McCook

Entity Amount	Entity Percent	Net Surcharge	Admin Fee	Surcharge	Total Lines	VOIP Lines	Wireless Lines	Telecom Lines	Reporting Period
\$-0.07	0.70	\$-0.10	\$0.10	\$0.00	0	0	0	0	6/2019
\$-0.06	0.70	\$-0.09	\$0.09	\$0.00	0	0	0	0	7/2019
\$5,545.51	0.70	\$7,922.15	\$164.10	\$8,086.25	6,469	14	4,203	2,252	8/2019
\$5,545.38	l:	Entity Total							
\$0.00	t:	Adjustment							
\$5,545.38	unt:	Total Amou							

McPherson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	1,014	1,497	4	2,515	\$3,143.75	\$74.44	\$3,069.31	0.70	\$2,148.52
							Entity Total:		\$2,148.32
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,148.32

Meade

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2019	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
5/2019	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
6/2019	0	0	1	1	\$1.25	\$0.38	\$0.87	0.70	\$0.61
7/2019	0	0	1	1	\$1.25	\$0.37	\$0.88	0.70	\$0.62
8/2019	4,391	17,606	238	22,235	\$27,793.75	\$572.55	\$27,221.20	0.70	\$19,054.84

Entity Total: \$19,057.83 Adjustment: \$0.00

Total Amount: \$19,057.83

Mellette

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	585	680	0	1,265	\$1,581.25	\$31.65	\$1,549.60	0.70	\$1,084.72
							Entity Total:		\$1,084.72
							Adjustment:		\$0.00
							Total Amou	nt:	\$1,084.72
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	1,024	1,600	4	2,628	\$3,285.00	\$66.39	\$3,218.61	0.70	\$2,253.03
							Entity Total:		\$2,252.83
							Adjustment:		\$0.00
							Total Amou	nt:	\$2,252.83
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2019	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
5/2019	0	0	5	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
6/2019	36	0	4	40	\$50.00	\$6.72	\$43.28	0.70	\$30.30
7/2019	6	0	12	18	\$22.50	\$7.02	\$15.48	0.70	\$10.84
8/2019	52,799	147,549	2,338	202,686	\$253,357.50	\$5,111.80	\$248,245.70	0.70	\$173,771.99
12/2015	30	0	0	30	\$37.50	\$0.00	\$37.50	0.70	\$26.25
12/2016	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
12/2017	64 72	0	0	64 72	\$80.00	\$0.00	\$80.00	0.70	\$56.00 \$63.00
12/2018	12	Ü	0	12	\$90.00	\$0.00	\$90.00	0.70	\$63.00
							Entity Total:		\$174,003.89
							Adjustment:		\$0.00
							Total Amour	nt:	\$174,003.89
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.38	\$-0.38	0.70	\$-0.27
7/2019	0	0	0	0	\$0.00	\$0.37	\$-0.37	0.70	\$-0.26
8/2019	1,723	4,572	23	6,318	\$7,897.50	\$176.06	\$7,721.44	0.70	\$5,405.01

Entity Total:		\$5,404.48
Adjustment:		\$0.00
Total Amount:		\$5,404.48
Net Surcharge	Entity Percent	Entity Amount
\$3.75	0.70	\$2.63
\$5.00	0.70	\$3.50
\$39.09	0.70	\$27.36
\$7.93	0.70	\$5.55
\$134,419.90	0.70	\$94,093.93
\$37.50	0.70	\$26.25
\$42.50	0.70	\$29.75
\$26.25	0.70	\$18.38
\$75.00	0.70	\$52.50
Entity Total:		\$94,259.85
Entity Total: Adjustment:		\$94,259.85 \$0.00
-		
Adjustment: Total Amount:	-	\$0.00 \$94,259.85
Adjustment:	Entity Percent	\$0.00
Adjustment: Total Amount:	_	\$0.00 \$94,259.85
Adjustment: Total Amount: Net Surcharge	Percent	\$0.00 \$94,259.85 Entity Amount
Adjustment: Total Amount: Net Surcharge \$4,905.79	Percent	\$0.00 \$94,259.85 Entity Amount \$3,434.05
Adjustment: Total Amount: Net Surcharge \$4,905.79 Entity Total:	Percent	\$0.00 \$94,259.85 Entity Amount \$3,434.05 \$3,434.05
Adjustment: Total Amount: Net Surcharge \$4,905.79 Entity Total: Adjustment:	Percent	\$0.00 \$94,259.85 Entity Amount \$3,434.05 \$3,434.05 \$0.00
Adjustment: Total Amount: Net Surcharge \$4,905.79 Entity Total: Adjustment: Total Amount:	Percent 0.70	\$0.00 \$94,259.85 Entity Amount \$3,434.05 \$3,434.05 \$0.00 \$3,434.05
Adjustment: Total Amount: Net Surcharge \$4,905.79 Entity Total: Adjustment: Total Amount: Net Surcharge	Percent 0.70 Entity Percent	\$0.00 \$94,259.85 Entity Amount \$3,434.05 \$0.00 \$3,434.05 Entity Amount

Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2019	0	0	3	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
5/2019	0	0	4	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
6/2019	24	0	10	34	\$42.50	\$3.41	\$39.09	0.70	\$27.36
7/2019	4	0	5	9	\$11.25	\$3.32	\$7.93	0.70	\$5.55
8/2019	30,459	77,750	1,600	109,809	\$137,261.25	\$2,841.35	\$134,419.90	0.70	\$94,093.93
12/2015	30	0	0	30	\$37.50	\$0.00	\$37.50	0.70	\$26.25
12/2016	34	0	0	34	\$42.50	\$0.00	\$42.50	0.70	\$29.75
12/2017	16	0	5	21	\$26.25	\$0.00	\$26.25	0.70	\$18.38
12/2018	48	0	12	60	\$75.00	\$0.00	\$75.00	0.70	\$52.50
							Entity To	tal:	\$94,259.85
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$94,259.85
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	1,762	2,245	6	4,013	\$5,016.25	\$110.46	\$4,905.79	0.70	\$3,434.05

Potter

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	1,181	1,717	9	2,907	\$3,633.75	\$74.14	\$3,559.61	0.70	\$2,491.73

Entity Total: \$2,491.53 Adjustment: \$0.00

Total Amount: \$2,491.53

Roberts

Roborto									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.19	\$-0.19	0.70	\$-0.13
7/2019	0	0	0	0	\$0.00	\$0.19	\$-0.19	0.70	\$-0.13
8/2019	3,578	4,923	16	8,517	\$10,646.25	\$233.03	\$10,413.22	0.70	\$7,289.25
							Entity Total	:	\$7,288.99
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,288.99
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	785	1,745	8	2,538	\$3,172.50	\$63.59	\$3,108.91	0.70	\$2,176.24
							Entity Total	:	\$2,176.04
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,176.04
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.19	\$-0.19	0.70	\$-0.13
7/2019	0	0	0	0	\$0.00	\$0.23	\$-0.23	0.70	\$-0.16
8/2019	2,339	4,490	19	6,848	\$8,560.00	\$168.33	\$8,391.67	0.70	\$5,874.17
							Entity Total	:	\$5,873.88
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,873.88
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	905	2,143	18	3,066	\$3,832.50	\$76.47	\$3,756.03	0.70	\$2,629.22
							Entity Total	:	\$2,629.22
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,629.22
Sully									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	652	1,162	4	1,818	\$2,272.50	\$45.42	\$2,227.08	0.70	\$1,558.96
							Entity Total:		\$1,558.96
							Adjustment:		\$0.00
							Total Amou	nt:	\$1,558.96
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	0	62	3	65	\$81.25	\$10.60	\$70.65	0.70	\$49.46
							Entity Total:		\$49.46
							Adjustment:		\$0.00
							Total Amou	nt:	\$49.46
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	2,508	3,867	7	6,382	\$7,977.50	\$164.38	\$7,813.12	0.70	\$5,469.18
							Entity Total:		\$5,469.18
							Adjustment:		\$0.00
							Total Amou	nt:	\$5,469.18
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2019	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
8/2019	2,268	6,138	18	8,424	\$10,530.00	\$212.47	\$10,317.53	0.70	\$7,222.27
							Entity Total:		\$7,222.07
							Adjustment:		\$0.00
							Total Amount:		
							Total Amour	nt:	\$7,222.07
Union							Total Amoui	nt:	\$7,222.07
Union Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Total Amoui	Entity Percent	\$7,222.07 Entity Amount
	Telecom Lines	Wireless Lines		Total Lines	Surcharge \$0.00	Admin Fee \$0.77		Entity	

8/2019	3,482	10,920	568	14,970	\$18,712.50	\$432.97	\$18,279.53	0.70	\$12,795.67
							Entity Total:		\$12,794.60
							Adjustment:		\$0.00
							Total Amount	Total Amount:	
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2019	2,082	3,520	108	5,710	\$7,137.50	\$144.59	\$6,992.91	0.70	\$4,895.04
							Entity Total:		\$4,895.04
							Adjustment:		\$0.00
							Total Amount:		\$4,895.04
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2019	0	0	0	0	\$0.00	\$1.39	\$-1.39	0.70	\$-0.97
7/2019	0	0	0	0	\$0.00	\$1.31	\$-1.31	0.70	\$-0.92
8/2019	6,241	15,601	254	22,096	\$27,620.00	\$545.52	\$27,074.48	0.70	\$18,952.14
							Entity Total:		\$18,950.25
							Adjustment:		\$0.00
							Total Amount	:	\$18,950.25
Totals	249,979	588,105	11,789	849,873	\$ 1,062,341.25	\$ 21,905.64	\$ 1,040,435.61		